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TOP_01 RUNS

typedef interface conn_if_t {
    {pos_t, unsigned} do_io_server 
        (const unsigned value_to);
} conn_if_t;
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forever

TOP_01_HAS_1_TILE_002_NODE_T0_2N_RUNS

core
  Constraint check for tile[0]:
    Cores available:          8,   used:    2 OKAY
    Timers available:        10,   used:    2 OKAY
    Chanends available:      32,   used:    4 OKAY
    Memory available:    262144,   used: 2916 OKAY
      (Stack: 616, Code: 2030, Data: 270)
  Constraints checks PASSED. 

par 
    Client core[0]
    Server core[1]     
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[[combine]]
par on core [0]
    Client
    Server     

TOP_07 RUNS
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init value = 1
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TOP_07_HAS_1_TILE_002_NODE_T0_2CN_RUNS

core

4 ms
outP4_leds

  Constraint check for tile[0]:
    Cores available:          8,   used:    1 OKAY
    Timers available:        10,   used:    1 OKAY
    Chanends available:      32,   used:    0 OKAY
    Memory available:    262144,   used: 3180 OKAY
      (Stack: 632, Code: 2246, Data: 302)
  Constraints checks PASSED. 

(0 1)

typedef interface conn_if_t {
    {pos_t, unsigned} do_io_server 
        (const unsigned value_to);
} conn_if_t;

par
    on tile[0]:
    par 
        Client+Server pair:
        par 
            Client core[0]
            Server core[1]           
        par (for 1 pair)
            Client+Server pair:
            par
                Client core[2]
                Server core[3]    
        par (for 1 row)
            par (for 2 pairs)
                Client+Server pair:
                par 
                    Client core[4][6]
                    Server core[5][7]
    on tile[1]:
    par (for 4 rows)
        par (for 2 pairs)
            Client+Server pair:
            par 
                Client core[0][2][4][6]
                Server core[1][3][5][7]

TOP_02_HAS_2_TILE_016_NODE_T0_4P_T1_4P_RUNS
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2S 
2(C,S)

C[0,2]

C[0,0]4(C,S)

par
    on tile[0]:
        par 
            Client core[0] (0 0)
            Client core[1] (0 2)
       
        [[combine]]
        par core [2]
            Server (0 1)
            Server (0 3)
            Client (1 0)
            Server (1 1)
            Client (1 2)
            Server (1 3)
    on tile[1]:
        [[combine]]
        par 8CN core[0]
            Client (2 0)
            Server (2 1)
            Client (2 2)
            Server (2 3)
            Client (3 0)
            Server (3 1)
            Client (3 2)
            Server (3 3)

TOP_03_HAS_2_TILE_016_NODE_T0_2N_AS_CC_6CN_T1_8CN_RUNS

TOP_03 RUNS
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Not fair

typedef interface conn_if_t {
    {pos_t, unsigned} do_io_server (
            const unsigned value_to,
            const pos_t    pos,
            const unsigned call_cnt);
} conn_if_t;

For logging:
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par
    on tile[0]:
    par
        par 2N
            Client core[0]
            Server core[1]
        [[combine]]
        par 6N core[2]
            Client
            Server
            Client
            Server
            Client
            Server
        [[combine]]
        par 8CN core[3]
            Client
            Server
            Client
            Server
            Client
            Server
            Client
            Server

TOP_04_HAS_1_TILE_016_NODE_T0_2N_AS_CS_6CN_8CN_RUNS
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Not fair at start
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par
    on tile[0]:
    par 2N
        Client core[0]
        Server core[1]
    [[combine]]
    on tile[0]:
    par 14CN core[2]
        Client
        Server
        Client
        Server
        Client
        Server
        Client
        Server
        Client
        Server
        Client
        Server
        Client
        Server
       

TOP_05 RUNS
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TOP_05_HAS_1_TILE_016_NODE_T0_2N_14CN_RUNS
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15(C,S)

S[0,1]

C[0,0]

par
    on tile[0]:
    par 2N
        client core[0]
        Server core[1]
    on tile[0]:
    [[combine]]
    par 30CN core [2]
        Client
        Server
        Client
        Server
        Client
        Server
        Client
        Server
        Client
        Server
        Client
        Server
        Client
        Server

TOP_06 RUNS
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TOP_06_HAS_1_TILE_032_NODE_T0_2N_30CN_RUNS
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1(C,S)

par
    on tile[0]:
    [[combine]]
    par 2CN core[0]
        Client
        Server
    [[combine]]
    par 2CN core[1] 
        Client
        Server
    par (for 3 rows)
        par (for 2 pairs)
            [[combine]]
            par core[2][3][4][5][6][7]
                Client
                Server

TOP_10 STOPS

TOP_10_HAS_1_TILE_016_NODE_T0_16CN_STOPS
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par
    on tile[1]:
    par
        Client core[0]
        Server core[1]
    on tile[0]:
    par (for 1 pair)
        [[combine]]
        par core[0]
            Client
            Server
    on tile[0]:
    par (for 3 rows)
        par (for 2 pairs)
            [[combine]]
            par core[1][2][3][4][5][6]
                Client
                Server

TOP_11 STOPS

TOP_11_HAS_2_TILE_016_NODE_T0_2CN_12CN_T1_2N_STOPS
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par
    on tile[0]:
    par 1N
        Client core[0]
    on tile[0]:
    [[combine]]
    par 2N core[1]
        Client
        Server
    par (for 2 rows)
        par (for 2 pairs)
            [[combine]]
            par core[2][3][4][5]
                Client 
                Server 
    on tile[0]:
    par 1N
        Server core[6]
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TOP_12_HAS_1_TILE_012_NODE_T0_1N_2CN_8CN_1N_STOPS
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par
    on tile[0]:
        [[combine]]
        par 8CN core[0]
            Client
            Server
            Client
            Server
            Client
            Server
            Client
            Server
        [[combine]]
        par 8CN core[1]
            Client
            Server
            Client
            Server
            Client
            Server
            Client
            Server

TOP_13 STOPS
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TOP_13_HAS_1_TILE_016_NODE_T0_8CN_8CN_STOPS
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par
    on tile[0]:
    par 
        Server core[0]
        Server core[1]       
    [[combine]]
    par 6CN core [2]
        Client
        Client 
        Client
        Server
        Client
        Server
    [[combine]]
    par 8CN core[3]
        Client
        Server
        Client
        Server
        Client
        Server
        Client
        Server

TOP_14 STOPS
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C S[0,1] C S[0,3]

TOP_14_HAS_1_TILE_016_NODE_T0_2N_AS_SS_6CN_8CN_STOPS
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par
    on tile[0]:
    par 
        Server-tim core[0]
        Server core[1]       
    [[combine]]
    par 6CN core [2]
        Client
        Client 
        Client
        Server
        Client
        Server
    [[combine]]
    par 8CN core[3]
        Client
        Server
        Client
        Server
        Client
        Server
        Client
        Server

TOP_15 STOPS
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C S[0,1] C S[0,3]

with select
timerafter

TOP_15_HAS_1_TILE_016_NODE_T0_2N_AS_SS_6CN_8CN_STOPS

core

goto

TOP_01 TOP_07 TOP_02 TOP_03 TOP_04 TOP_05 TOP_06

TOP_10 TOP_11 TOP_12 TOP_13 TOP_14 TOP_15

RUNNING FOREVER

STOPPING AFTER SOME TIME
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_xc_test_combinable.xc
NUM_ROWS 4
NUM_COLS 4

Øyvind Teig (22Feb2021)
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pos_t = (row col) 

ROW[0][1][2][3],PAIR[0][1],CONN[0][1][2]
ROW[0],PAIR[1],CONN[2] = "0.1.2"

2	*	1 2	*	1 4	*	4 4	*	4 4	*	4 4	*	4 4	*	8

4	*	4 4	*	4 4	*	3 4	*	4 4	*	4 4	*	4

4	*	4


